Guess Paper – 2008

Class – X
Subject – Mathematics
Maximum marks : 80





Time taken: 3hrs
Instructions: 

1. There are 30 questions in total divided into 4 sections , section A , B , C and D.

2.  Section A consists of ten questions of one mark each , section B consists of two marks each of totally 5 questions , Section C consists of 10 questions of three marks each and section D consists of five questions of six marks each.

3. There is no overall choice . However internal choice has been provided in 1 question of two marks , 3 questions of three marks and 2 questions of five marks.

4. Constructions shold be very neat and as per the exact measurements given.

5. Use of  calculators is not permitted . However you may ask for mathematical tables.

1. State the fundamental theorem of Arithmetic.

2. When does a parabola curve points downwards?

3. Find the mode of the data:

                    14,12,13,16,14,12,13,14,16

4. The perimeter of a sector of radius 3.5cm is 17.5cm. Find the length of its arc.

5. Two triangles are said to be similar. If area of the larger triangle is 121cm2  and the area of the smaller triangle is 81cm2. The side of the larger triangle is 14.4cm , find the side of the smaller triangle.

6. What is the standard form of a linear equation?

7. Find the 24th term from the end of an AP 13,16,19,22…

8. Find the probability that a card drawn is a king  from a pack  of 52 cards.

9. Why mean is not suitable for finding the maximum number of TV programs watched by 200 families in a survey ?

10. Write the theoretical formula for calculating median of a distribution.

                                              SECTION – B

11. Find the maximum number of biscuits that can be kept in 32 orange boxes and 24 red boxes.

12. Prove that tangent is perpendicular to the radius at point of contact.

13. A book has 5 lessons of economics , 15 lessons of geography , 7 lessons of history and 3 lessons of politics. Find the probability that the read lesson is :

(a) not history.

(b) neither politics nor geography

14. Prove (secA + tanA – 1) (secA – tanA + 1) = 2tanA.

                                    OR

Prove that :  (1 + tanA + cotA) (secA – cosA) = sin3A + sinA.tanA.

15. The area of segment cut off from a circle of radius 12cm is 56cm2. The sector so formed has a right angle in the centre. Find the area of remaining part of the circle which is not included in the sector.

                                            SECTION - C

16. If  the zeroes of the polynomial 3x4 – 2x3 + 6x – 14 are in AP , find the zeroes of the polynomial and verify the relationship between the zeroes and coefficients.

17.Find the median of the following distribution:

	      CI
	  10-14
	14-18
	18-22
	22-26
	26-30

	      F
	   8
	  12
	   21
	   6
	   3


18. If the median of through the vertex A of a triangle is 12 units and the vertices  of the midpoint of the triangle is (1,3) , B(2,-4) . Find the vertices of A and C.

19. If the points (-3,5) (2,-6) and (k,4) are collinear , find the value of  k.

20. In a square of side 28cm , 4 quadrants are drawn simultaneously each of whose radius is 3.5cm , find the area of the remaining region.

21. If the pth term of an AP is 1/q , and the qth term of an AP is 1/p. Show that the pqth term is 1.

                                                   OR

If the sum of m terms is same as the su of n terms show that the sum of (m+n)th is 0.

22. A solid sphere of diameter 3.5m is melted and recast into small cylindrical balls each of radius 0.7m and height 1.6m . Find how many such balls can be obtained.

                                                OR

Find the total internal area of frustum of height 12cm and radii of its ends 8cm and 3cm.

23. Prove that the intercept between two parallel tangents subtends a right angle at the centre.

24. D is a point on side BC of an equilateral triangle ABC such that DC = ¼ BC. Prove that AD2 = 13DC2.

                                            OR

A point O in the interior of a rectangle ABCD is joined with each of the vertices A , B , C and D. Prove that OB2 + OD2 = OA2 + OC2.

25. One fourth of a herd of camels was seen in the forest. Twice the square root of the camels had gone to mountains and the remaining 15 camels were seen on the bank of a river. Find the total number of camels.

                                     SECTION-D

26. Prove that the tangents drawn from an external point  to a circle are equal. Using the above result solve this:

ABCD is a quadrilateral circumscribing a circle and <D = 900 such that the circle touches side AB , BC , CD , AD at P,Q,R and S. If BC = 25cm , BP = 8cm , CD = 33cm. Find the radius of the circle.

                                              OR

Prove that if a line parallel to one side of a triangle to intersect other two sides at two distinct points , then the other two sides are divided in the same ratio. 

Using above prove that  in a trapezium ABCD , AB║ EF║ DC and E and F are points on the non-parallel sides , BF/FC = ¾ , show that 7FE = 10AB.

27. 2 women and 5 men can do a piece of work in 4 days. The same work can be 3 women and 6 men can do the work in 3 days. Find the time in which 1 woman and 1 man can do it alone.

28. Construct a triangle in which AB = 6.4cm , <BAC = 600  , BC = 4.2cm. Construct another triangle which has 7/5 of the sides of the given triangle Write the steps of construction.

29.Solve the following pair of linear equations graphically:

                              7x – 6y= 19

                             3x – 5y = 8

30. From the foot of the mountain , the angle of elevation of its summit is 450. After ascending 1km towards the cliff , at an inclination of 300 , the angle changes to 600. Find the height o the mountain. 
